Name Class

Date

Practice 6-2

Find the slope and v-intercept of each equation. Then graph.

1. v =x+2 2. v+ 3= 'Lx 3.y =2x — |
5 v = i\ - 4 6. y - 2¢= -3 7. v = %\ + 3
9. v = v -2 10. v — 6 = -2y M.y = -3¢ -2
13,y ¢ 4= 2p 14, v = -5¢ 45 15, ¢ = 4 + ¢
17. v = %k + 2 18. + — z\ = -5 19. v = —6
21 v = ore 22, v +3v =6 23 v+ do= 2

Write an equation of a line with the given slope and y-intercept.

25w o 4b = 8 26, m = =2 b = —h
28. m = ~—2,/> = =7 29, m = ~6.b = |
31. m = *é ho= =3 32. i = 9.b =4
34, = ’; b= 0 ’ 35 m = —ll.h = 13

Write the slope-intercept form of the equation for each line.
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43. A television production company charges a basic fee of $4000 and then

$2000 per hour when filming a commercial.

a. Write an equation in slope-intercept form relating the basic fee
and per-hour charge.

b. Graph your equation.

€. Use your graph to find the production costs it 4 hours of filming
were needed.

Slope-intercept Form
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4, v — ;\ -1
8. v+ %'\‘ = =2
12, v+ =0
16. v = —h
8
20. v~ 3= —3x
24. v = ou
m :lg./i’ =10
o= ;h = -
o= ~Soh =11
ni = Z b= -6
T T
4«144 H ’ /M
; 3 7
|/
Y X
=ENAEE)
1 "‘
ol Ty
- - )
=1
=3
Ve

ke
(o]
>
el
(]
101
1%}
bt
)
—
Ko
jo))
=
<C

© Pearson Education, Inc., publishing as Pearson Prentice Hall.



